52 0O0O0O0ODOO

e 100000 DOODOONDONONODONODOONDOONDONOODOODOONDOOO
e 00000 DOODOODOUODONOODOODOODOODOODDOO*So
e float O
- 0000 4000000000 60
- 0o0oog*7: 1,75 x 271
S E M
0 | 01111110 | 1100000 00000000 00000000
S:000000000ME: 0000 (127)50 = (01111111), 0 00000000MWM: OO
000000000000
e double O
- 0000 8000000000 140
- CO0D000000000000000
—- 0000000 3140 1. 000 double DO OO0OODODO

53 000D

e JI:

gobooobooooooooOobo0oOobobooobooOoOoOoOOoOoOoOboOoobOOoOooboooOoo
oo20000000000-1000000DODODOO

m 00053 OO0O0O0OO0OOOOO

/* Class average program */

#include <stdio.h>

int main()

{
double average; /* double DO OUOOOOOOOOOOO =/

int counter, grade, total;

/¥ 0000000 =/
total = 0;

counter = 0;

*16 o000 0D00000fcat 0000000000000 O0OO00OO0ONONODOOONONDOODON0OONONONODOODONOODOOn
gooooobooboobobo
*ITIEEET54 0000000000000 (—1)% x (1 + M) x 28127
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/+ 000000 */
printf ("Enter grade, -1 to end: ");
scanf ("%d", &grade);

while (grade >= 0) {
total += grade;
counter++;
printf ("Enter grade, -1 to end: ");
scanf ("%d", &grade);

/ 000000 %/
if (counter > 0) {
average = (double)total / counter;
printf("Class average is %.2f\n", average);
}
else

printf("No grades were entered\n");

return O;

}
oooo

Enter grade, -1 to end: 90
Enter grade, -1 to end: 85
Enter grade, -1 to end: 63
Enter grade, -1 to end: 98
Enter grade, -1 to end: 85
Enter grade, -1 to end: -1

Class average is 84.20

e average = (double) total / counter;
- 00000000o00o0o0oUoo0o0ooOoU0o0ooOo0o0oooOooooOoooo
— total O counter O int 0000 Ototal / counter 000 int 000000000000
- 0000000 (type)D OOODOO
0000000000000 00 tweOOOO (DODDODDOD)DODODDODOOODOODOOOOO
(double) total / counter O Odouble 00 /Oint 00O
+ 0000000000000 0O000O0O0000O0O000DO0O0DOUOO0ODOUOoOO
00000 (000000)0
+ J0000000000000O0O00DOOooooo
x int 00 double 0000000000000 OOOOOOOOO double O
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— printf("O000000O %.2f\n", average);
+ 00000000000 % 00000000000000 60
* %.2f 0000000000000000O0O0O0
e OUIODOODODOODOODDOODOODDOODOO

000 000 0000
O goodg odgd
++ -— + - (type) sizeof 0000 OO
x /Y oooo 00
+ - o000 OO0
< <= > >= oooo oo
= I= oood od
&& gooo ooo
| gooo ooo
2. oooo 00
= 4= -= %= [= Y= oooo 00

, oooo ooo
e 1000000 DDOOOODOOONODOOONONDOOOODOOO printf, scanf 00000

oooo prictf 00000 scanf 00000
long double WLE %LE
double % yARS
float Wt Wt
unsigned long int  %1lu %lu
long int %1d %1d
unsigned int YA YA
int %d hd
short %hd %hd
char %he he
m(] i0; ;0000302000000 mt000000O0ODODODOODOODODOO
1+1i/ j* 10
1 +10 i/ j
1+i/3*10.0
1 +10.0 x i/ j
1 + (double) i / j * 10
1 + (double) ( i/ j ) * 10

.
]

j=1.0

40



